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What is an attribute in a relation ?

(A) A database column
(B) A database row

(C) A database constraint
(D) A database table

(E) Not attempted

2. If the cost price is 96% of the selling
price, then what is the Profit percent ?
(A) 4.17% (B) 5.17%
(C) 6.17% (D) 3.17%
(E) Not attempted

3. Haryana Govt. had declared which
among the following year as ‘The Year
of Industry and Employment’ ?
(A) 2012

(B) 2013 E]:“%
(C) 2011 2OFHG
(D) 2014

(E) Not attempted

4. The outermost solid cover or shell of
the earth is known as

(A) Sima

(B) Sial

(C) Igneous

(D) Earth crust
(E) Not attempted

5. Anil introduce Rohit as the son of the
only brother of his father’s wife. How
is Rohit related to Anil ?

(B) Uncle
(D) Son

(A) Brother
(C) Cousin
(E) Not attempted

AAfgoge #m 2 7
(A) @%‘ﬁmw L~
(B) TH SeEH T
(C)@%zﬁmaﬁ:réz
(D) T STEH 2o
(E) 3T

2. R 5 T T e 1 96% 2, T
i e R ? cp: L
M) 4.17% B) 5.17% ] ..

)
(C) 6.17% (D) 3.17% "P}‘
(E) r 4

3. gﬁqwnmﬁﬁwf%«rf@afiﬂﬁmaéﬁ
T 3R AR 1 9§ e TR R 7

(A) 2012
( (BY'2013
(C) 2011
(D) 2014 g;w
(E) TSR

4. e 1 HEE SR S WA A HAw
e 2 |

(A)

(B) T

(C) T
LAD) gt

(E) TR

5. atf Afea o o sus far ool
¥ THAE WIS 6 T b T H e R
ﬁ%aaﬁaﬁﬁﬁawﬁﬁiﬁa% ?
(A)mé (B) ==

a?‘mm'é (D) G

X @%}O %2' Ukacgf g Zg
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The water accumulated under the
ground surface in this manner

(A) Well (B) Canal

(C) Ground water (D) Spring

(E) Not attempted

With the help of which of the

following international organizations,

Haryana Community Forestry Project

was started ?

(A) World Bank

(B) European Commission

(C) South Asian Association for
Regional Cooperation (SAARC)

(D) None of these

(E) Not attempted

AT
[E]:%e
Which Article in the Indian Constitution
is related to the Equal Justice and Free
Legal Aid ?

(A) Article 39A

(C) Article 39D
(E) Not attempted

(B) Article 39C
(D) Article 39B

Full form of RKVY is

(A) Rashtriya Krishi Vikas Yojana
(B) Rajya Krishi Vikas Yojana

(C) Rajya Kendra Vikas Yojana
(D) None of these

(E) Not attempted

Which function is used to free up
memory allocated by malloc(), calloc()

or realloc() ?

(A) clear()

(C) free()

(E) Not attempted

(B) reset()
(D) deallocate()

CG - CG23

6. 39k & it % Tar % i T HAA
B 2

(a) B (B) &
YR LLES (D) fom
(E) JTSida
7. Prefifea § & fr s gmed i
HERIAT & BT ATEf S afEeT
A 58 7
(A) fava ¥
(B) A ST
\/{sz)mqﬁmaq@r%ﬁmqﬁtﬂm
FIHTRIA (SAARC)
(D) 398 ¥ 1S T
(E) TS
8. WRAW Hfau™ 1 HH-91 3q=oe =4
% T AR 3 god fafus ggma 4
efa B 7
LK) 3G 39A  (B) 3g=0s 39C
(C) T=_q 39D (D) 3TI=VE 39B
(E) STHATRIG

9. RKVY I for &9 3
\AAJ T i T ST

(B) T=U HiY forera s

(C) T g, foreprar A

(D) T & HIg T

(E) TRt

B3 11
e

L‘-’l
L

10. malloc(), calloc() AT realloc() GRT

armEfed A 6l e W & fore fem
R T ST R e ® 7

(A) clear() B) reset()

(C) free() (D) deallocate()
(E) 3unféa

B
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11.

12.

13.

14.

15‘

RIDF was established in

(A) 1995 - 1996 (B) 1992 - 1996
(C) 1993 -1995 (D) 1992 — 1993
(E) Not attempted

Which of the following is used to
manipulate data from a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)
(D) None of the above

(E) Not attempted

Evaluate : 28% of 450 + 45% of 280.

ORA0!
(B) 356 =iy

i
(D) 254

(A) 252
(C) 201
(E) Not attempted

Which Article in the Indian Constitution
is related to the Abolition of
Untouchability ?

(A) Article 117

(B) Article 18

(C) Article 121

(D) Article 17

(E) Not attempted

was the longest serving
Governor of Haryana.

(A) Birendra Narayan Chakraborty
(B) Ranjit Singh Narula

(C) Jaisukh Lal Hathi

(D) Dharma Vira

(E) Not attempted

11. RIDF F e g3 |
(A) 1995-1996 (B) 1992
_AE) 1993 - 1995 (D) 1992 -1

(E) ST

_ 1996
993

\) e e St (ML)
(B) TgFTE T e (SQL)
(C) 21 ST #hasl (DDL)

(D) I | [ H1E T8l 9
1Y
(E) 3T 0 o0 xS
wstifs Yoo B
13. 450 I 28% + 280 F1 45% T A i

F | Vo6 #1176
L(A) 252 (B) 356

(C) 201 (D) 254

(E)

14, ET GRYE H1 HH-T1 TG
reqsta % 3o @ TEfa @ ?
(A) 3BT 117
(B) 310G 18
(C) 31T=8g 121

........
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16. Full fon:n of NAIg i
(A) Nationa]

(D) None of thege
(E) Not attempteq

17. Pointing to a Photograph, a man said,
“I have no brother of sister but that
man’s father is my father’s son”.
Whose photograph was it ?

(A) His son’s

(B) His father’s
(C) His own

(D) None of these
(E) Not attempted

18, Transformation of Aspirational Districts
Programme was announced by

(A) Atal Pension Yojana

(B) Pradhan Mantri Yojana
(C) NITI Aayog

(D) None of these

(E) Not attempted

19, What is a stream in C Program ?

(A) A way of handling input/output
operations in & program N

(B) A type of loop used in decision-
making structurés

(C) A type of function use
manipulate strings

(D) A type of data struct
store variables

(E) Not attempted

d to

re used to

cG - CG23

16. NAIS ®l R &9 8 -

(A) I e v M

B e STl $vate hi

(©) dure Idiica Sy @

(D) 38 & ¥ 7

(E) TSt
17. @ﬁﬁﬁaﬂtgﬁ'ﬂm?’@ﬁ

ﬁm’“ﬁnﬁg‘mﬁmmqﬁ%q@sﬂ
oy 35 e B o 5 g o
o fram e 4
U (A)ﬁgﬂaﬂ

(B) 37 faan =&

(C) FTH! TT F

(D) 30 & 18 &

(E)

18. 3riaft frem wriwn &1 wara, T8
FAH gm0 uifya R mam)
(A) 37T 99 FioT
(B) TUTAHAT FISHT
\A€) ife mam
(D) ¥ § HI$ &l
(E) Twanfaa

Cium A FH AR ?

(A) T T F $9E/INSLY FAH
U H1 39

(B) Fofar o Ha e =T & SwEW gy
ST AT T TR &l &9

() f&gm =t iterd = & forg 3waim
T3 ST 9Tl T YR 1 R

i_AD) T THR Hl ST T N1 Iqyn
R wUE ¥ foman Sran @

(E) rwtta

19.
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1993 — 94 ¥ 1997 — o8 ¥ farell ferfer

20. What was the percentage increase 20.
in the foreign exchange reserves in ver T gfaed sga == ot 7
1997 — 98 over 1993 - 94 ? e
FOREIGN EXCHANGE RESERVES OF A FOREIGN EXCHANGE RESERVES OF £
00 COUNTRY(IN MILLIONUS $) i COUNTRY(IN MILLION US $)
5000
4000
3000
2000
1000
1991-92 1992-93 1993-94 1994-95 1995-96 1996-97 1997-98 1998-99 - 199192 1992-93 199394 1994-95 199596 199697 1997:98 s

(A) fso (B) 200
(C) 620

(E) Not attempted

(D) 100

21. Which of the following is used to
define the structure of a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)

(D) None of the above

i
T
0

:-
AR
G

(E) Not attempted

22. Full form of IMRB is

(A) Indian Market Rural Business

(B) International Market Research

Bureau

(C) Indian Market Research Bureau
(D) None of these
(E) Not attempted

B) 200  $.1°
' (B) 100 ="

(A) 150
E7E (C) 620

[ oy S

DR ()
21. e ) G ) aReniE F % o
1= # ¥ Rewe swim o ST @ 7
(A) S Afegere SFarst (DML)
woff] g =l s (SQL)
. @) 21 M eies (DDL)
(D)ﬁﬂﬁﬁﬁaﬁéqﬁ
(E) I5ntad

22. IMRB %1 foe” ¥4 2
(a) 3fezm wiehe T T
(B) 3w Ak T =g
Q) iR e ot g
(D) 3T & F3 T

(E) TR
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23. This person becg
be appointeq g4 Me the first Indian to

Punjab High, Couthe 1* Chief Justice of

: Ttin 1913
(A) Sir Shadilg

(B) Dr. Saryp, Singh

(C) Chaudha,-y Bansila]
(D) Sir Choty Ram

(E) Not attempteq

24. National Agl‘icultural Co-operative

Marketing Federatiop (NAFED
established on

' (A) 27 October 1985
(B) 27 September 1958 ?
(C) 2" October 1983
(D) 2™ October 1958
(E) Not attempted

) was

2

s

Touh:

%ﬁs
&

25. Who was the founder of the Shunga

Dynasty ?

(A) Bimbisara (B) Agnimitra
(C) Pushyamitra (D) Ajathashatru
(E) Not attempted

26. A cyclist covers a distance of 750 m

in 2 min. 30 sec., what is the Spf:ed
in km/hr of the cyclist ?

(A) 12 km/hr  (B) 17 km/hr

(C) 18 km/hr (D) 13 km/hr

(E) Not attempted

27. Which of the following modeg is used
for opening a file for appending ?
A B) @

) Not attempted

CG - CG23

23. 3H A B 1913 T Tom 355 =
qgel WA g =i 3 =9 # g
fopan

AK) T IMGATS
(B) &I. &y fig
(C) =erdt sl
I
B D
~E(E) srvEntm

24. T N vt faqum HeteH
(NAFED) ! &ifya femar |

{8 2 3R 1985
(B) 2 fadsR 1958
(C) 2 TR 1983

\_IB] 2 IS 1958
(E) 3T9Tya

25. YT 991 1 HEATYH HH 4T ?
(&) faferam (B) tfmfim

AC) geEftE (D) FSTawTy
(E) 3wnfea

26. TF Yisshel TR TF 750 m Y gt
2 iz 30 The o T = Ha 2, TEEE

AR 6! TG km/hr § F71 8 7 #5f Sx Y
Bsp S

(A) 12km/hr  (B) 17 km/hr

tAC) 18 km/hr (D) 13 km/hr
(E) TSt

27. S % Ry § e Wt F e fe
4 ¥ for Tig &1 Iw R S R o
(A) LB) @
(C) % (D) W’
(E) 3rwnfa
B
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28.

29.

30.

31.

32.

CcG - CG23

Which type of join returns only the og. ford@ WHI I Jsi¥ haet I I.t ) i

rows that have matching values in @ HTT @ QA aferemat 7 forem

both table ? " T g7

(A) Outer join '(B@t join V|’ @A) TEQ STE  (B) T T

(C) Inner join (D) Right join (C) iR Sigt (D) qrAT A

(E) Not attempted (E) TR

Full form of MUDRA is 20. MUDRA %1 foqa &4 2

(A) Micro Units and Development _AA) m W QS %’aﬂ@? fwEA
Refinance Agency Ltd. i fafine

(B) Micro Units and Development ) ? b
Reference Agency W HEh! W E© FerHe ThE

(C) Mantri Union Development () Wt g reriie e TeE!
Refinance Agency Ltd. fafine

(D) Mantri Union Development _ " Syoriie Yat T
Reference Agency ;‘i«%‘} (D) el I!

(E) Not attempted e (E) TSR

Which planet is known as the “Watery 30. T8 T 1 “Sefa U8~ FEAE ?

Planet” ? .

(A) Earth (B) Mars a0 (B) et

(C) Jupiter (D) Mercury (C) gEefa (D) ¥4

(E) Not attempted ’ (E) R

EITpEs
=¥ -
LT e (]

PR

. . = . #-_( A
Which of the following pairs 1S i

correctly matched ?

(A) National Dairy Research Institute :
Manesar

(B) YMCA University of Science and
Technology : Faridabad

(C) Lingaya’s University : Hisar

(D) National Brain Research Centre :
Hisar

(E) Not attempted

Jayer lies below the crust.

(B) Rocks

(A) Core
(D) None of these

(©) Mantle
(E) Not attempted

31. Ti=fafed & & SH-w1 3w gfem @ 2
X (A) T SRR STTHYH TEAW @ AW

PG IS R SUHE L

(c) Fommn gfvafdfe : feaw
X (D) TS W&t ANFHIH g, : fgw

(E) 3T
32. T R % Y el 2
() (B) g
LAQ) W (D) T & 9 i
(E)

(% scanned with OKEN Scanner



ﬁVn

33.

34.

35.

36.

37.

is relat:drttl(:i}lz the Ingian Constitution
qu;laf:tll: ?nchayat;gsnization of the
(C) Articlz 2? (B) Article 45

(E) Not attempyey (D) Article 40

(A) strepy()

(C) strrev()
() Not a ttempte;‘('b)/ streat()

Ifa:b=5:9andb'c=

finda:b:ec. 4:7, then
(A) 36: 20 : 63
(B) 63:20: 36
(©) 20 : 63 : 36 o5
(D) 20: 36 : 63 KAl

(E) Not attempted

Recently, Jahanara Bagh Stadium in

Jhajjar district of Haryana has been

renamed as

(A) Hemchandra Vikramaditya
Stadium

(B) Narendra Modi Stadium

(C) Maharishi Dayanand Saraswati
Stadium

(D) Rao Tula Ram Stadium
(E) Not attempted

The regulated and controlled distribution

of essential goods among people means

(A) National Institute of Agricultural
M -n . .

(B) sﬁ?& igricultural Credit in India

(C) Public Distribution Syster™

(D) National Cooperative
Development Corporation

[E) Not attempted

THE (A) 3T 39
N (0) IR 41 (o IigedE 40
(B) IrsEmféa

34. cyum ¥ &1 HEFRYym ¥ fag fmd
AT B BT IR R ST 2 7
(A) strepy() (B) strlen()
(C) strrev() (D) strcat()

(E) 3T5mide
35. zI'|%{a:b=5:93ﬁ‘{b:c=4:7,Eﬁ
a:b:c?ﬂﬁﬁl 5;7

(A) 36: 20 : 63 fp2 7
(B) 63:20: 36 "’é'/éjl

903
(C) 20:63:36
\_{P) 20:36: 63
(E) ST9mia

36. T & H, BION &% woor e & JEEW
17 Rfeam = 9m Teee
fopam T )

(B) Tz gt wfeam

(C) wehfy gare aeadt Rfsam
(D) T g T Rfgam

(E) TRt

AN A 3navEe Tegat & e ok
e faaw & fow swerRh @

(A) TR PN fooe HEam

(B) WRA ® HfY /Y €
U,eﬁrﬁaﬁmﬁmmwsﬁ

(D) TS TEehT e iR
(E) TSR

37.
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38. “Mountbatten Plan” regarding the

partition of India was officially declared
on

(A) 10 June 1947
(B) 03 July 1947
(C) 03 June 1947
(D) 04 June 1947 N
(E) Not attempted

39. Which of the following was the theme
State of Haryana’s famous Surajkund
International Crafts Mela, 2022 ?

(A) Punjab

(B) Jammu and Kashmir
(C) Himachal Pradesh
(D) Uttarakhand

(E) Not attempted

40. A deposition of sand which results in
a long, narrow embankment in the
sea near the coast is called

(B) Latitude

(D) Sand bar

(A) Lagoon
(C) Beach
(E) Not attempted

41. Complete the following Analogy.
Cardiology: Heart:: Mycology :
(A) Shells (B) Skull
(C) Fungi (D) Diseases
(E) Not attempted

42. The two general categories of crop
insurance are called
(A) Crop-price insurance and crop

insurance
(B) Crop price insurance and crop

revenue insurance
(C) Crop-yield insurance and crop

revenue insurance
(D) None of the above
(E) Not attempted

cG - CG23

iz e i 3 R E
gﬁm%ﬂ,aﬁaﬁ?ﬁmﬁﬁtﬁmf——m
1 TS|
(A) 10 ST 1947

(B) 03 g 1947

03 T 1947
(D) 04 ST 1947

38

30, Fefifad § & w-a1 ghawn & FE

40. Y@ %1 wurE forgeh TR TWEE TH @,
T TR wg % ¢ W S I 8,
B Tl § | .
s, ) (B)
(C) 85 d (D) et
(E) IrRfEd

41. Frafafen arEaa i Hivw |
HIfSAITSH : Ted :: HIShIaie] :
(A) e (B) G
LAC) S (D) T
(E)

42. O S 6 Q wme ot

FHErd & |
(A) FE qed T IR e fiy
LBy & Y M 3R WHe Trorey

(C) o Ieare ST 3R ey roreg S

(D) Sad H | HE T
(E) 3rsRnfdd

.10-
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45.

46.

47.

Serves as a connecting link
between Himalayas and Haryana
plains.

(A) Aravalli hills
(B) Morni hills

(C) Mewat hills
(D) Tipra hills

(E) Not attempted

tempted 20
Pradhan Mantri Jan Dhan Yojana
was launched on -
(A) 28% August 2016

(B) 28™ November 2014

(C) 28% August 2014

(D) 28%* November 2016

(E) Not attempted

The largest planet of the solar system is
(A) Saturn (B) Uranus

(C) Jupiter (D) Neptune

(E) Not attempted

A, B and C started a business by
investing Rs. 1,20,000, Rs. 1,35,000
and Rs. 1,50,000 respectively. Find
the share of each out of an annual

profit of Rs. 56,700.
(A) 4:5:8

B) 8:9:10

(C) 5:6:3

(D) None of these
(E) Not attempted

First Mobile Court of Haryana was
set up at Mewat in

(A) 2003
(C) 2007
(E) Not attempted

(B) 2005
~ (D) 2000

CG - CG23
43. __ Temem 3 sfemm % deni ¥
=9 ©F & 2l
(A) rEet it vgifeat
(_AB) T <t vt
(C) HaTa i yerfeat
(D) fewn &t wmifeai
(E) ST9Tya
44, YUFEN 99 99 ISHT 1 RA
! foam )
(A) 28 3T 2016
(B) 28 &R 2014
\_{C) 28 3T 2014
(D) 28 & 2016
(E) TS
45. R ey & 99 991 18 @
(a) v (B) 3T
|AC) Fewid (D) o=
(E) 3o
46. A, B3N CI®. 1,20,000, €. 1,35,000
3 %. 1,50,000 FA: e wd g T
FHRER & | a1 @ €. 56,700
Teh d114eh o9 ¥ Jesh 1 Y 1 L |
(A) 4:5:8 49 135 BT
arsAB) 8:9: 10 L g j J1o
?Elﬁ‘iﬁl () 5:6:3 j@'
(D) H | I3 &
(E) 3T
47. T A o ghamn 6t vget
e = wfa foe w |
(A) 2003 (B) 2005
\_{€) 2007 (D) 2000
(E) TSR
ol s B
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48. If \/15= 3.88 then find the value of \g .

49,

50.

51.

52.

(A) 5.60
(C) 1.2933
(E) Not attempted

(B) 7.80
(D) 13.97

If D = 4 and COVER = 63, then

BASIS = ?
(a) 50 (B) 54 f s -
(C) 55 (D) 49 3

(E) Not attempted

In which year, British Govemmeﬁt
politically divided Haryana into two
parts ?

(A) 1805 i
(B) 1810 R
(C) 1815 B
(D) 1800

(E) Not attempted

Mixing of unwanted substance with
water is called

(A) Sound pollution

' (B) Water pollution
" (C) Nuclear pollution

(D) Soil pollution
(E) Not attempted

When did Mauryan Empire begin ?

(A) 323 BC
(B) 322 BC

]
() 289BC s
(D) 326 BC

(E) Not attempted

cG - CG23

48. A J(5=3.88%, d EWWW
|
(A) 5.60 (B) 7.80

(D) 13.97

49. I D= 43°ﬁTCOVER 63, dl

382518
BASIS— 1
r M1

{/(MSO

(C) 55
(E) 3T

50. ffew w3 Teh R e ghEmn i ad
2 v # «ie feam
&) 1805
(B) 1810
(C) 1815
(D) 1800
(E) 3o

51. & & 91y Faied g H e
FEeTdm @ |

(4) =@t ST
(B) ST AqT

(C) Tf¥ehr e

(D) Tl gy

(E) A5

52. WX GHTST F & &3 ?
LAa) 323 BC
(B) 322 BC
(C) 289 BC
(D) 326 BC =
(E) e

(B) 54
(D) 49
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53.

54.

55.

56.

S7.

" (B) Kisan fair

The most widespread form of

adv'e TUSIng and is the favourite of the
Indian rural maggeg

(A) Magic shows

(B) Wall Painting

(C) Folk media

(D) None of the above
(E) Not attempted

In Haryana, this famous fair of
Karnal is held on every September
(A) Gopal Mochan fair

(C) Gangor fair
(D) Mango fair
(E) Not attempted

Find the average of all prime numbers
between 30 and 50.

(A) 49.8 (B) 39.8

(C) 38.8 (D) 59.8

(E) Not attempted

Which of the following is the fastest
memory in the memory hierarchy ?
(A) Primary memory

(B) Secondary memory

(C) Cache memory EJ,";;@’
(D) Tertiary memory

(E) Not attempted

i ing Capacity in a
is the earning “&r

rural market. The cost of Living alw_ays
depends upon their Way of Ea;lr:nagé
So, the Income levels &€ unreliable,

most of them are depended upIonotrlr::
seasons and agriculture: So the Inc
levels cannot be a fixed 0P¢

A N

{B} glszistgléeultural Backgfound
(C) Economy

(D) All the above

(E) Not attempted

CG - CG23

53. TaS199 %1 G99 =A9F §Y 37 yRg
IO ST T TEE @ '
(A) TG 1 T A
(C) <l Hifgan
S (D) I F & P T
B By v

54. BREON ¥ HET H T8 Ufkg e wfoad
T & oar 2
(A) AT Hr= Hell
J VI
ng) M AT A
(E) STSamtea

e T AT
(A) 49.8
(C) 38.8
(E)
frafafad § & wiA-dt 99 TgEEa §
el a9 AEH B 7
(&) wrafies AEid
(B) Tl THIT

LAC) 3 BT
(D) qeftersh JHI

(E)

55.

(B) 39.8 "

(D) 59.8 79

56.

Treftor SIS | 31 &Tar R
Sfa-T197 & HHd Fed I A ISH
el W sl et B | o 'R sfavas
& wiifes 3 arfirenier HEw 3 HW W fuk
2| ara: o w Rfved 7€ 8w 2|

57.

B
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59.

60.

61.

Which among the following districts
of Haryana is not drained by Yamuna

" river ?

(A) Hisar (B) Panipat
(C) Yamuna Nagar (D) Sonipat
(E) Not attempted

A and B together can complete a piece of
work in 4 days, if A alone can complete
the same work in12 days. How many
days can B alone complete that work ?
(A) 7 days (B) 6 days

(C) S days (D) 8 days

(E) Not attempted

Which of the following diagram
correctly represents Elephants,
Wolves, Animals ?

33

=%
AL
Rt

(E) Not attempted

What value will replace the question
mark in the following equation ?

1,1 1 2
S 4+3= —=13=
42+36+?+23 5

1 32
@) 37 B) 33

3

— D) None of these
(©) 1375 (D)

(E) Not attempted

60.

58.
) T (B) T

© FFWFR (D) WA
(E) AT

59. AaﬁtB@m@W@‘*ﬁ,ﬁf‘m
%mféAaq%fﬁs@ﬁma?rlzﬁflﬁW
a2, A B Ik v B ER
£t o whaT B 7 ? R,
@A) 7t Lerefm 5
©) sfe (D) 8 f&
(E) T5anéd

frefofa 3 & B-a1 s wefl, A,
Tl @ ale | quiar @ 7

61. Frefafga arfemr 8 SH-w1 o
o & ®IF W I 7
4%+3é+?+2%=13§

1 2
™) 37 \_,(/B)/3-5—
3 :
(©) 135 (D) T & 13 7
(E) 3SR '
-14.-
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62. ThiS.SPOI‘tS Pe€rson from Haryana was
nc?rm.nated for the Dronacharya Award
(Llfetl.me Category) in recognition of his
contribution tq the sport of wrestling
in 2022
(A) Raj Singh Chhikkara
(B) Ravi Kumar Dahiya
(C) Vinod Kumar Dahiya
(D) Vijendra Kumar
(E) Not attempted

63. What is Solar EcliPSe ?

(A) When Earth comes in between
Moon and Sun

(B) When Sun comes in between
Earth and Moon

(C) When Sun Rays do not reach Earth

(D) When the Moon comes in between
Earth and Sun

(E) Not attempted

India is the largest Country in
the World (in terms of area). -
(A) 7 (B) 9

€) 5 (D) 8

(E) Not attempted

65. Battle of Karnal was fought between
and Muhammad Shah of

Mughal empire.

(A) Lord Warning

(B) Nadir Shah g
(C) Sadashiv Rao Bhau A
(D) Siraj-ud-daula

(E) Not attempted

NDC full form is

(A) National Defenc® Cours.i

(B) National Directory Coﬁ*’ e
(C) National Directo™” CoPes

66.

© Yos

65, FACHWIE

e
(D) Nati onal Defence Colleg
(E) Not attempted

-15-
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62. TRATN % 38 Raemet i 2022 # et
& @l § Ih e &g ZomaTd 3raT
¢ (T TEH hemR) &g Aifda foar Tram o

(4) T fére foaam
(B) T o e
(D) g
(E) T5amida
63. TUETRIR ?
(A) W <gaT 3 g & T g on 9
(B) & gt 3 Sgw & <ftg gd an =g

| %%E(C) s gd i Rl get WA g {5

(AD) 5@ et sl S S
(E) 3rrmfer

. 64. YA fava = 2T (FTFA B

we #) T Bl
7 B) 9
(D) 8 d
o (B) ‘
% TEIE Y8 &9 el T |
(A) IS ST
\_(B) et e
(C) Tl TE WIS
(D) Rrer-3g-ge
(E) TSt
66. NDC &1 foreqa 9 &
AT et fedhm i
(B) v sl e
(C) Avret SR wict
(D) e f¥% i
(E) rrnfia

B
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67. Pehowa mela is held in which among | 67, g AT o
the following district of Haryana ? ﬁT@ # T
33 (A) Kurukshetra a ;fw ] A &) 3’76?33
(B) Karnal 39 +H (B) HLT
'Sx qrfiqa
49 (C) Panipat 3438 (C)
1 163 .. % (D) Teran
) e (D) Sirsa 4(:92 .
3 yg l}'f’l m
’% 32 (E) Not attempted Eﬁ-v "zl:'l (E)
: S A
68. Who was the Chairman of Steering 68. Ufgw @l I HETEH afefa
? )%‘* 879 Committee of Constituent Assembly ? T ol ?
/4,17 (a) Sardar Vallabhbai Patel (A) TG FeTHATS T
2. .
| r%' (B) K. M. Munshi K Il (B) %, T, gﬂﬁ
| 3-3’3} (C) Dr. B. R. Ambedkar () =1, . 3. TR
‘{ o @ 3 D) Dr. Rajendra Prasad @ 2.1 MDT 2l. oig TG
{ ;:*'4‘3 9 (E) Not attempted (E) Twted
I 69. Find the sum of all 2 digit number 69. i 2 3Rl HI I TEMAT H a‘m 'ﬂ'l'd £
' ’
| "-",'5,'5’,-'C’Zivisiblebys. fsf’ -89 3 33 frsa #) 12, 15,19
T 12, 51, 18, 21,....., 99. ”} 3 12, 51, 18, 21,....., %
| 3 @ (A) 1678 (B) 1458 . 5 (A) 1678 (B) 1458 "
33-3
154 (C) 1669 (D) 1665 sl ):ad (C) 1669 (D) 1665
3;/157“} (E) Not attempted 3_5’}(341 47 # (E) ITomiea
: }st 43y 70. A worker may cla1m Rs. 15 for each km | 70. @%ﬁmﬂ St /@ AE A ‘R afa fatt
Zp/ ?) which he travels by taxi and Rs. S for lsg.ﬁ(mw%mﬁmuﬁm
t M"k é ~ each km which he drives his own car. 5. % gl W 3 ® k
'"'; 1 J If in one week he claimed Rs. 500 for 38% T HATE H
‘ ; travelling 80 km, how many kms he 80 femlt Wﬁ%%‘q'{a 500 1 g
-.7“:‘3/3 travels by Taxi ? form & 3o Sl g Rt T <y 2
1‘31 (A) 20 km q+ 16d - (A) 20 ferrdt XT s €
@ (B) 30 km 3+ S’/é;JZJ R (B) 30 ferrfl |00 /\4{,;5
(77 (D) 40 km s )3< (D) 40 forrft V4
(E) Not attempted 53 E) o)
Feg S g
B o -16-
{65
/
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71.  Which among the following is the highest
award of Haryana State Govt. for the
outstanding players of Haryana ?

(A) Bhim Awarg “
(B) Rani Laxmj Bgaj Award

(C) Guru Vashisht Award

(D) Maharana Pratap Award
(E) Not attempted

72. Inthe mesosphere, the temperature will

(A) Decrease at first and then increase
(B) Decrease

(C) Stay the same as in the Stratosphere
(D) Increase |

(E) Not attempted

73. A deep narrow valley with steep sides

is called a

(A) Gorge

(B) Delta

(C) V-shaped valley
(D) All the above
(E) Not attempted

In each of the following, find the
figure from the answer set which
will continue the series given in the
problem set.

74,

(a) (B)

(D)

(€

(E) Not attempted
-17-
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71. g % Ik Raenfeat vy hamn o=
R 3R | Fare g Frfataa o
YHA-TR ?

) ot e
(B) Tt et a1 3mard
(C) T® Al J7are
(D) HEWIOT JaTd 37T
(E) TSTRIT
qegHee |, qII9HE
(A) g T Rt s
(B) weM

arc ©) gvHee % GaM g =W

72.

1 [=] (E] rrﬁm
73. T Tl g urdt fowes T @t g
®,__ gd gl
LAy TSt
(B) 1
(C) V-3ThR i a7t
(D) I |t
(E) rvamfea
74. Tr=afofga & @ Qs s ag=w 4 @ 9
3few <t gue qy=a ° & T gEen i
il TEa R |
1 2 3 4 5
A == (B) |=—
— -—
( AC) == D) |==
(E) 3t
B
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75.

76.

77.

78.

79.

Which of the following numbers
divisible by 3 ?

(A) 5967013

(C) 541326

(E) Not attempted

(B) 1111
(D) None of these

In March 2023, Haryana became first
State in India to achieve 100%

(A) Adult education

(B) Electrified railway network
(C) Solar installation

(D) Rural electrification

(E) Not attempted

FEIZte:

w-ﬂ‘

s

What is the reason behind red soil
developing a reddish colour ?

(A) The presence of potash and magnesia
(B) Due to the presence of iron

(C) Over Grazing

(D) None of these

(E) Not attempted

Which error detection code uses a
single parity bit to detect errors ?

(A) Hamming code

(B) Parity check

(C) Cyclical Redundancy Check (CRC)
(D) All of the above

(E) Not attempted

An aeroplane flies along the four
sides of a square at the speeds of
200, 400, 600 and 800 km/hr.
Find the average speed of the plane
around the field.

(A) 384 km/hr
(C) 564 km/hr
(E) Not attempted

(B) 444 km/hr
(D) 765 km/hr

-18-

W
mEE
AK) 384 km/hr

CG - CG23

e i & FA-H FET 3ufwER ?
(B) 1111~

(D) o & IS T

(a) 5967013 *

(AC] 541326
(E) e

76. s 2023 #, ghamn ¢ F 100%
e A e g TS S
(A) FIEH TERET
(B) foraa T T -
(C) HI e
\/D/)Wﬁwﬁ@'fﬁﬁ"“
(E) 3T

77, T HE % T U1 % B R
(A) rerr 3 A < Iufefd
\_4B) witg @ ufeufa

78. FH-T1 T TEHE TS TR H1 qaT A
¥ foru i AR T =1 ST et 2 ?
(a) 2fm wre
UiB) BiE 9
(C) urfacera SR 9= (i)
(D) 3T Tt
(E) Trnfaa
79. T T W& 200, 400, 600 3K
800 km/hr it 7fedl ¥ w 1t H =T/
I3 o H-F ISaT & | &F % T
3R gaTS SR S 3fEd iy sa

(B) 444 km/hr
(C) 564 km/hr (D) 765 km/hr

(B) 3mrnida
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. This f:
80 amous mMonument of Buria was

built i :
: .ln ShahJahan’s reign in Ambala
district of Haryang

(A) Peacock thyop,
(B) Raaj Maha)

(D) Red fort

(E) Not attempteq

81. Classification of Rura] Markets is
(A) Industrial Market

(B) Services Market

(C) Consumer Market

(D) All the above

(E) Not attempted

82. In each of the following find the

figure from the answer set which
will continue the series given in the

problem set.

L L.

il ]

1 2 3 4 5
(A) L‘
C)| —e
(D) /

(E) Not attempted

-19.
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80. W 1 I8 UfHg Wk Wrewal g

(A) 3ftEnfie SRR
(B) ST FNIK
55 (C) IHMTERIT ST

ok

(E) vatea

frafafea % @ 7% S ag=a 4 4
gfee < wwen wg= § & 7 AEen Bt
ST T 2 |

2wl

2

L.
L2,

82.

- L.

3

-

4

1

(A)

"(B)

(C)
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83. Where is the Niagara river found ? 83. I Tt hal 27
(A) India (A) ‘mj:a
(B) Australia L (B) e fer
. Ft st
(C) North-America Bietrc L/('G)
(D) Japan (D) SIHH
(E) Not attempted (E) 3R
’ T fawe
84. Rewari Railway Heritage Museum 84. RN F @il T aligl auge™
of Haryana had world’s oldest still H g Hq—.ﬁ s ot ;ﬂ@gﬁq repHIfed
functional steam locomotive known as 2, ol e 8 |
(A) Himalayan Queen (A) e =
(B) Fairy Queen ' LAB) ¥ad ==
(C) Iron Lady (C) I é@ﬁ
(D) Shimla Kalka Express (D) Rt FHTeTehT TEE
(E) Not attempted (E) IS

85. Who was the Chairman of Drafting 85, - Gfeur awr it IEw afufa w1 A

Committee of Constituent Assembly ? S AT ?
(A) Sardar Vallabhbai Patel (A) TER ToHETs Teet
(B) K. M. Munshi % (B) ¥. w. it
(C) Dr. B. R. Ambedkar TR0 . . wm s
(D) Dr. Rajendra Prasad (D) Si. Teig TE1E
(E) Not attempted (E) TR
86. Complete the following Analogy. 86. ffeiaa aaeuar ‘I?f ﬁﬁﬂ‘{l

Vitamin A : Retinol :: Vitamin C: mA:m::mC:/
(A) Calciterol ( Ai St
(B) Niacin (B) franfim
(C) Tocopherol (C) ThIhTa
(D) Ascorbic acid (D) Tehifdeh 37
(E) Not attempted (E) Rt

B | -20.-
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87. Nabh Chhor is the leading evening 87. =¥ =R, gREmn % R g
neWS_P&lper published from IR B T 3of HeAr GErET 21
district of Haryana.

(A) Palwal (A) Swidet

(B) Hisar \/g) feam

(C) Sonipat (C) @Hfigd - ~
(D) Rohtak (D) Ugdeh ’
(E) Not attempted (E) ST

88. A sum of Rs. 800 amounts to Rs. 920 | 88. ®. 800 il w Uf¥ 3 a¥ # wremor =<
in 3 years at simple interest. If the TWE. 920 8 A 2 | I = 3%
interest rate is increased by 3%, it se W 2, A zadh R frad B 7
would amount to how much ? ' Tl

(A) 995 (B) 997 iy (A) 995 (B) 997 Ll 3
(C) 998 (D) 992 B¥L () 998 BT 992 K
(E) Not attempted (E) 3T5aféa

89. Complete the following Analogy. 89. T=feTRad gwewar qui Hifg |
Ayurveda : Medicine :: Dhanurveda : 31T§5’q‘ : 3iufer o ‘J’:ﬁa :

—_— x(A)

e o s

(C) Archery e LAC)

(D) None of the above G (D) ST H | I3 T
(E) Not attempted (E) 3TSnida

90. is the most important and 90. ___ waifes wewyel 3R gag 2oft 2,
widespread cafI:engarz't ; z:fﬁrj:g? rtcl:fem T AT 40% -8 Tl B Wiewh
m:rm:upofmesesoﬂs. WWW‘{F&W@W%I
(A) Red soil (A) ST qT
(B) Laterite soil (B) TgE
(C) Alluvial soil (AC) el T
(D) Black soil (D) relt el
(E) Not attempted (&) strnfé
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1 English Language & o
. . Sﬂ@:ﬁ' m m‘ m m
\ 91. How many tense are theren English | 96 o 7
" Grammar ? rraﬁﬂ:ﬁ
(A) 2 _BY 3 A
(C) 8 (D) X
E (E) Not attempted (C) LEIL
| . (D)
|1 92. Complete the following Analogy- (E)
1 Before : After :: Enjoy { ————
B (a) Sad ‘ 97. 4,9 % o, | e T IS WM R
2 (B) Happy LAR) &
Lie) Suffer (B) e
| (D) Pain o (C) AT
| (E) Not attempted r";f&f (D) AT
f i' 93. How many types of nouns are there (E) mﬁlﬁ
i i i ?
il il “;EgghSh gramma;;) . o8, ‘wrreRaTd fhEh W R 7
f b W () T
| o~ (C) 2 \AD) 5
| & 7 (E) Not attempted \/‘('B) FHi @Hﬁ
: (C) AHsI
94. Complete the following Analogy. (D) CUNE TG ES
Hen : Pullet :: Kangaroo :
(A) Calf (E) 3wt
(B) Pup 99. <t & w=m % Fha W B 7
A ot @) 3 ®) 4
u
1
(E) Not attempted L) 2 (D)
(E) ITs=nfad
95. The past participle fo f th
| ‘Drasz’ participle form of the verb | 100, wgmeliy yae f3ad 1 68 T g ,
| (A) Drew e 3 e % &9 § Fgw R
| (B) Draw 3 L +44) =¥ 1903
(C) Drawing B, (B) =¥ 1906
Drawn (C) =¥ 1909
(E) Not attempted (D) =¥ 1900
.' (E) 3t
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